

$$\frac{4y^{2}-9}{y^{2}+6y+9} \div \frac{8y-12}{ay^{2}+5y-3}$$

$$\frac{4y^{2}-9}{y^{2}+6y+9} \div \frac{2y^{2}+5y-3}{8y-12}$$

$$\frac{4y^{2}-9}{y^{2}+6y+9} \div \frac{2y^{2}+5y-3}{8y-12}$$

$$\frac{(2y+3)(2y-3)}{(y+3)(y+3)} \div \frac{(2y-1)(y+3)}{4(ay-3)}$$

$$= \frac{(ay+3)(ay-1)}{4(y+3)}$$

$$\frac{A \text{ODITION} / SUBTRACTION}{SUBTRACTION}$$

$$\frac{5 \cdot 3}{5 \cdot 4} + \frac{2 \cdot 7}{2 \cdot 70} = \frac{15}{20} + \frac{14}{a0} = \frac{29}{20} + \frac{4}{a^2b} + \frac{3}{ab^3} = \frac{3}{a^2b^3}$$

$$\frac{3y + 1}{2 \cdot 2} = \frac{y + 4}{y^2 \cdot 2y - 15} \quad \text{) Factor all} \\ \frac{3y + 1}{ay - 10} = \frac{y + 4}{y^2 \cdot 2y - 15} \quad \text{) Factor all} \\ \frac{4}{a + 3} = \frac{2(y + 4)}{2} \quad \text{algebra for all} \\ \frac{3y^2 + y + 9y + 3}{2(y - 5) - 2(y + 3)(y - 5)} \quad \text{algebra for all} \\ \frac{3y^2 + y + 9y + 3}{2(y - 5)(y + 3)} + \frac{-2y - 8}{2(y - 5)(y + 3)} \quad \text{algebra for all} \\ \frac{3y^2 + 8y - 5}{2(y - 5)(y + 3)} = \frac{73y - 9(y + 1)}{2(y - 5)(y + 3)}$$

$$\frac{(x-3)}{x^{2}+6x+9} = \frac{-x+2}{(x-3)(x+3)} = \frac{1}{-2} = \frac{-1}{2} = \frac{-1}{2$$